Theme 1 – Price Elasticity of Demand

Past paper evaluation question for PED
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Using the information in Extract 2 and your own knowledge, discuss whether the demand for tobacco products is likely to be price inelastic or price elastic. Use an appropriate diagram in your answer. (10)
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The leading anti-smoking pressure group ASH, believes it will take a further fifty years
to eliminate smoking in Britain. ASH claims that up to two-thirds of lifelong smokers
are eventually killed by their habit.

(Source: © ASH)
Extract 2 Tobacco taxation

In the 2012 Budget the Chancellor George Osborne increased the tax on tobacco by
5 percentage points above the rate of inflation (known as the tobacco tax escalator).
This added 37 pence to the price of a packet of cigarettes. The government received
£12.1 billion in revenue from indirect taxes on tobacco in 2012.

Despite price increases on tobacco contributing to a fall in its demand, total
expenditure has risen (including the tax receipts). For example, consumer
expenditure on tobacco increased from £15.1 billion in 2010 to £15.3 billion in 2011.

Tobacco consumption among 11-15-year-old children has not changed over the
past five years with 5% being regular smokers. Tobacco smoking also remains much
higher for low income workers in manual occupations (29%) compared to higher
income workers in professional and managerial occupations (13%).

There has also been a significant switch in tobacco sales, from high quality, expensive
brands to low quality and cheap cigarettes. The latter now account for 30% of the
British market.

(Source: © ASH)

Extract 3 Tobacco smuggling and government regulations

Around 20% of all tobacco smoked in the UK is smuggled into the country and the





